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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied 
 

Qu Answers Mark Part Answers 

1 

20

9

cao 

1  

2 11 or −11 1  

3 (a) 

 

 (b) 

1.32656 ….. 

 

1.327 

1 

 

1ft 

 

4 72 2 M1 for 84 ÷ 7  

5 (a) 

 

 

 

 (b) 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

3

2

 

 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−12

8

 

 

1 

 

 

1 

 

6 105 2 

 

M1 for 180 – 55 – 50  

or B1 for 55 or 75 seen in the correct angle inside 

the triangle 

 
7 

 

correct working; 

 

e.g. 8

3

16

2

3

=×  

 
2 M1 for 

k

k

2

3

   

and  A1 for 8

3

16

 

2

3

=×

n

n

k

k

 

8 11.35, 11.45 1, 1 SC1 for both answers correct but reversed 

9 [b = ] 5(a + 9) oe final answer 2 M1 for one correct step  

10 7n − 3 oe 2 B1 for 7n  

11 (a) 

 

 (b) 

− 6 

 

13 

1 

 

2 

 

 

B1 for 

16

12

or 

16

14

or 

16

13

 seen 

12 (a) 

 

 (b) 

[0].55 oe 

 

18 

1 

 

2 

 

 

M1 for 40 × [0].45 oe 
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13 (a) 

 

 (b) 

 

 (c) 

cuboid 

 

pentagon 

 

obtuse 

1 

 

1 

 

1 

condone [rectangular] prism 

 

14 (a) 

 

 (b) 

7 

 

1270 or 1274  

 or 1274.2 to 1274.4  

1 

 

2 

 

 

M1 for π × 5.2
2 

× 15  

 

15 

 

454.27 cao final answer 

 

3 

 

M1 for 

2

100

4

1420 ⎟

⎠

⎞
⎜

⎝

⎛
+×  oe 

and A1 for 454 or 454.2 to 454.3 

or SC2 for answer 34.27 

or SC1 for answer 34.2 to 34.3 

16 175 cao final answer 3 

 

B2 for 175.4… 

or M1 for 200 ÷ 1.14 

17 (a) 

 

 

 (b) 

correct ruled line  

two pairs of correct arcs 

 

correct ruled line  

two pairs of correct arcs 

1 

1 

 

1 

1 

 

18 (a) 

 

 

 (b) (i) 

 

  (ii) 

5
–2

 and 0.2
2

 

 

 

a
9

 

 

4b
12

 

 

2 

 

 

1 

 

2 

M1 for any two correct decimal values seen with 

the correct expression 

e.g. 0.04,   0.4,   0.25,    0.16,   0.04 

 

 

B1 for 4b
k

 or B1 for kb
12

 

where k is an integer ( k ≠ 0 ) 

19 (a) 

 

 (b) 

 

 (c) 

5x + 15         final answer 

 

3x( 4y – x )   final answer 

 

15 

1 

 

2 

 

2 

 

 

B1 for 3( 4xy – x
2 

)  or   x( 12y – 3x )  

 

M1 for a correct first step  

20 (a) 

 

 (b) 

 

 

 (c) 

4 cao 

 

27

21

 oe isw 

  
3.33(3…)  

1 

 

2 

 

 

3 

 

 

 

M1 for 3 + 6 + 5 + 7 + 4 or 21 seen  
M1 for 3 × 1 +  6 × 2 + 5 × 3 + 7 × 4 + 4 × 5 + 2 × 

6, allow one incorrect product or 90 seen 

 

and M1 dep for ‘their 90’ ÷ 27  
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Qu Answers Mark Part Marks 

15 (a) 

 

 

 (b) 

52 

 

 

22 

2 

 

 

1 

M1 for 180 – 128  

or 128 or 52 marked on diagram in a 

correct position.  

16 (a) 

 

 (b) 

3.844 × 10
5 

 

4.55 × 10
8 

1 

 

2 

 

 

B1 for figs 455 seen 

17 (a) 

 

 (b) 

 

 (c) 

< 

 

> 

 

< 

1 

 

1 

 

1 

 

18 (a) 

 

 (b) 

 –4, –7, [+]5  in any order 

 

–22 

1 

 

2 

 

 

M1 for –10 and –12 seen 

SC1 for –10 +12 seen 

 
19 

 
with 2 correct steps seen 

k

k

35

18

 

 

 
3 B1 for 

k

k

3

5

 

and M1 for  

5

3

7

6

their×  

20 (a) 

 

 (b) 

Angle or triangle [in a] semi-circle  

 

7.068 to 7.07 

1 

 

2 

 

 

M1 for π  × 1.5
2  

seen 

21 6632.55 cao final answer 3 M2 for 

3

100

2

16250 ⎟

⎠

⎞
⎜

⎝

⎛
+× oe  

 

or M1 for 

2

100

2

16250 ⎟

⎠

⎞
⎜

⎝

⎛
+× oe 

 

SC2 for answer 382.55 final answer 

22 14.5 oe 3 M2 for complete correct method 

or M1 for one correct step 

23 (a) 

 

 (b) 

 

 

1 

 [v =]

m

E2

 or 

m

E

5.0

or 

m

E

2

1

 

1 

 

3 

 
M2 for v

2 

= 

m

E2

  

or M1 for mv
2

 = 2E or  ½ v
2 

= 

m

E
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Qu Answers Mark Part Marks 

15 (a) 

 

 

 (b) 

52 

 

 

22 

2 

 

 

1 

M1 for 180 – 128  

or 128 or 52 marked on diagram in a 

correct position.  

16 (a) 

 

 (b) 

3.844 × 10
5 

 

4.55 × 10
8 

1 

 

2 

 

 

B1 for figs 455 seen 

17 (a) 

 

 (b) 

 

 (c) 

< 

 

> 

 

< 

1 

 

1 

 

1 

 

18 (a) 

 

 (b) 

 –4, –7, [+]5  in any order 

 

–22 

1 

 

2 

 

 

M1 for –10 and –12 seen 

SC1 for –10 +12 seen 

 
19 

 
with 2 correct steps seen 

k

k

35

18

 

 

 
3 B1 for 

k

k

3

5

 

and M1 for  

5

3

7

6

their×  

20 (a) 

 

 (b) 

Angle or triangle [in a] semi-circle  

 

7.068 to 7.07 

1 

 

2 

 

 

M1 for π  × 1.5
2  

seen 

21 6632.55 cao final answer 3 M2 for 

3

100

2

16250 ⎟

⎠

⎞
⎜

⎝

⎛
+× oe  

 

or M1 for 

2

100

2

16250 ⎟

⎠

⎞
⎜

⎝

⎛
+× oe 

 

SC2 for answer 382.55 final answer 

22 14.5 oe 3 M2 for complete correct method 

or M1 for one correct step 

23 (a) 

 

 (b) 

 

 

1 

 [v =]

m

E2

 or 

m

E

5.0

or 

m

E

2

1

 

1 

 

3 

 
M2 for v

2 

= 

m

E2

  

or M1 for mv
2

 = 2E or  ½ v
2 

= 

m

E
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
Question Answers Mark Part Marks 

1 109 1  

2 3.177 2 B1 for 3.176[5] or 3.17 or 3.18 

3 1500 or 3 pm 2 B1 for 1h50 or 2h[0]5 

 

or SC1 for 1255 + their 1h 50 + 

15mins correctly evaluated 

4 

300

30

 oe www 2 M1 for 30 seen or 

300

k

seen

 

5 [x =] 7 2 M1 for correct first step 

 

3x = 16 + 5 or x − 

3

5

 = 

3

16

 

6 79.5 [≤ S <] 80.5 1, 1 SC1 answers reversed 

7 £ or pound[s]     

 

working must be shown 

 

 

2 

M1 for 425 ÷ 1.14 or 365 × 1.14 

 

8 

5

18
and 

4

9
 seen 

 

5

18
× 

4

9
 and 

45

72
 or 

15

24
 or 

5

8
 oe seen  

M1 

 

 

A1 

 

 

 

Not essential to see 

5

3

1

  

 

9 2y (3xy − 4) 2 
B1 for 2 (3xy

2

 − 4y) or y (6xy − 8) 

10 (a) 

 

 (b) 

[ ± ] 2.28 or 2.282 to 2.2822 

 

0.109 or 0.1094 [3 …] 

1 

 

1 

 

 

11 (a) 

 

 (b) 

129 

 

Obtuse 

1 

 

1 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
Question Answers Mark Part Marks 

1 109 1  

2 3.177 2 B1 for 3.176[5] or 3.17 or 3.18 

3 1500 or 3 pm 2 B1 for 1h50 or 2h[0]5 

 

or SC1 for 1255 + their 1h 50 + 

15mins correctly evaluated 

4 

300

30

 oe www 2 M1 for 30 seen or 

300

k

seen

 

5 [x =] 7 2 M1 for correct first step 

 

3x = 16 + 5 or x − 

3

5

 = 

3

16

 

6 79.5 [≤ S <] 80.5 1, 1 SC1 answers reversed 

7 £ or pound[s]     

 

working must be shown 

 

 

2 

M1 for 425 ÷ 1.14 or 365 × 1.14 

 

8 

5

18
and 

4

9
 seen 

 

5

18
× 

4

9
 and 

45

72
 or 

15

24
 or 

5

8
 oe seen  

M1 

 

 

A1 

 

 

 

Not essential to see 

5

3

1

  

 

9 2y (3xy − 4) 2 
B1 for 2 (3xy

2

 − 4y) or y (6xy − 8) 

10 (a) 

 

 (b) 

[ ± ] 2.28 or 2.282 to 2.2822 

 

0.109 or 0.1094 [3 …] 

1 

 

1 

 

 

11 (a) 

 

 (b) 

129 

 

Obtuse 

1 

 

1 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 

soi  seen or implied 

 

Qu. Answers Mark Part Marks 

1 11 or –11 1  

2 (a) 1.32656... 1  

 (b) 1.327 1ft  

3 72 2 M1 for 84 ÷ 7 

4 105 2 M1 for 180 – 55 – 50 

or B1 for 55 or 75 seen in the correct angle 

inside the triangle 

 
5 

 
correct working; 

e.g. 8

3

16

2

3

=×

n

n

k

k

 

 
2 M1 for 

k

k

2

3

   

and  A1 for 

k

k

2

3

8

3

16

 =×

n

n

 

 

6 3x(4y – x)         final answer 2 B1 for 3(4xy – x
2

) or x(12y – 3x) 

7 (a) Equidistant from A and B  

(or C and D or AD and BC) 

1  

 (b) 

 

1  

8 

x ≥ −

3

8

 oe 

2 M1 for –3 ≤ 8x oe 

If 0 then SC1 for −

3

8

 with incorrect inequality. 

9 48.15, 48.45 cao 2 B1 B1 

If 0 then M1 for 16.0 and 16.15 soi 

10 (a + b)(p – 2) 2 B1 p(a + b) – 2(a + b) or a(p – 2) + b(p – 2) 

11 3x
4

 2 B1 for kx
4

 or 3x
k
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12 (a) 3

11

 

1  

 (b) 

 

1  

13 175 cao final answer 3 B2 for 175.4 ... 

or M1 for 200 ÷ 1.14 

14 454.27 cao final answer 3 M1 for 420 × (1+
100

4

)
2

 oe 

and 

A1 for 454 or 454.2 to 454.3 

or SC2 for answer 34.27 

or SC1 for answer 34.2 to 34.3 

15 2.67 or 2.672 to 2.67301 3 
M2 for 3

3

4

)π80( ÷   oe  

or M1 for 80 ÷
4

3

π( )   oe 

16 35.4 or 35.36 to 35.37 

 

3 M2 for 1000 ÷ (π × 0.75
2

×16)  oe 

or M1 for π × 0.75
2

×16  oe or 

)75.0π(1000
2

×÷  

17 y = 2x − 1  3 B2 for y = mx – 1 or y = 2x + c or 2x – 1 

or B1 for gradient = 2, B1 for c = –1 

or SC1 for 

3

6

 or 

]0[3

15

−

−−

 

18 (a) (x + 6)(x–5) 2 SC1 for (x + a)(x + b) where ab = –30 or a + b  

 (b) 
x + 4

x + 6

 final answer 

1  

 
19 

6

7

 or 0.857[1…] 

 
3 M1 for t =

k

u

 oe 

A1 for k = 6 

20 (a) (i) p + 
1

2

r 1  

  (ii) 2p + r 1ft 2 × their (i) 

 (b) Midpoint of RQ 1  
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied 
 

Qu Answers Mark Part Marks 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

1 

 

2 (p + 3)(k + m)  2 B1 for k(p + 3) + m(p + 3)  

or p(k + m) + 3(k + m)  

3 17 − 4n 2 B1 for ± 4n seen 

4  4.55 × 10
8

 2 B1 for figs 455 seen 

5  10.5 www 2 M1 for 42 = 
2

1  × BC × 8 or better 

6 2.2[0...] 2 M1 for 11.99 ÷ 0.626 soi by 19.2 or 

19.15... 

7  (a) 

 

 (b) 

5.17225... 

 

5.2 

1 

 

1FT 

 

 

FT their (a) 

8 6.1 final answer 2 M1 for [√37.8225=] 6.15  

9 40.3 or 40.31 to 40.32 3 M2 for 3

65

05.0

4.4 ×  soi 

or M1 for 3

65

05.0

 soi or 3

05.0

65

 soi 

10 (a) 

 

 (b) 

95 

 

77 

 

1 

 

2 

 

 

B1 for [angle] ACD = 58° or [angle] 

BAC = 19° or [angle] ANB = 103°  

or [angle] CAE = 66° 

A B 

A B 
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10  

 

25 

 

4 

 

M1 for correct method to eliminate one 

variable 

 

A1 for x = 11 

A1 for y = 3 

B1 FT for 2 × their x + their y correctly 

evaluated 

11 (a) 

 

 

 

 

 (b) 

 

77 

 

 

 

 

either 18 or 19 or both 

 

2 

 

 

 

 

2FT 

M1 for 11,13,17,19 clearly identified, ignore 

numbers less than 8 with no other numbers 

greater than or equal to 8 besides possibly an 

extra 17 

 

M1 for 11,13,17 clearly identified, ignore 

numbers less than 8 with no other numbers 

greater than or equal to 8 besides possibly an 

extra 17 

       or  for their (a) − 58 

12 (a) 

 

 

 (b) 

 

25

5

 oe 

25

4

 oe 

 
2 

 
 

2 

B1 for answer 

k

5

 or 

25

k

 

 

B1 for answer 

k

4

 

or 

25

k

 

 
13 

 

 
)1)(3(

8

+− xx

x

 

 
4 

 
B1 for common denominator (x – 3)(x + 1) 

seen 

B1 for (x + 3)(x + 1) – (x – 1)(x – 3) soi 

 

B1 for x
2

 + 3x + x + 3 or x
2

 – 3x – x + 3 soi 

14 (a) 

 

 

 

 (b) 

 

n < 9 

 

 

 

(b + d)(a + c) 

2 

 

 

 

2 

M1 for 2n < 18 or 2n – 18 < 0 oe 

If 0 scored SC1 for 9 with incorrect 

inequality. 

 

B1 for b(a + c) + d(a + c)  

       or a(b + d) + c (b + d)  

15 (a) 

 

 

 (b) 

 

 (c) 

4 

 

 

26  

 

8  

2 

 

 

1FT 

 

1 

M1 for attempt at sum of all numeric and x 

terms equated to 74  

 

=18 + 2 × their (a) 

16 (a) 

 

 (b) 

 

1.5 

 

2(x + 5) or 2x + 10 

 

2 

 

2 

B1 for [g(18) =] 4 
 

M1 for correct first step e.g. 5

5

−=

y

x  or  

5

2

+= y

x

 or  2y = x – 10 
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9 (a) (i) 

 

 

  (ii) 

 

 

 

  (iii)  

 

  (iv)  

 

 (b)  (i) 

 

  

  (ii) 

 

 (c)   

2 and 2 

12 

      

7 points correctly plotted 

 

correct curve through the 7points 

 

correct line  

 

2.6 – 2.8 

 

3

2

 

y = 

3

2

x + c  

 
[y =] 2x – 3 

 

1 

1 

 

3ft 

 

1 

 

1 

 

1ft 

 

1 

 

 

1  
3 

 

 

all in the correct places 

 

 

P2ft for 5 or 6 points correctly plotted  

P1ft for 3 or 4 points correctly plotted  

 

 

Must be ruled and continuous 

 

ft their curve and their line  

 

 

 

 

c not –5   
M2 for y = 2x + p 

or M1 for attempt at gradient i.e. 

run

rise

 

 

 B1 for y = qx – 3   q≠0 

10 (a) (i)  

 

 

     (ii)  

 

 

 

 

 

 (e)         

x +12 

x – 34   x − 22 

 

x +12 = 3(x – 22) 

 

 

39 cao 

 

 

 

3

8

−

 

 

1,1,1 

 

1ft 

 

 

3 

 

 

 

3 

 

in each part allow correct unsimplified 

terms 

 

accept x +12 = 3x – 66  or   

(x+12) / 3 = x – 22 

 

M1 for their 3x – 66 seen 

M1 for correctly collecting terms from ax + 

b = cx + d   a,b,c,d ≠ 0 

 

M1 for correct method to eliminate one 

variable. 

A1 for x or y correct. 

11 (a) 

 

 (b) 

113  or  113.09  to  113.112 

 

185 or 186 or 185.76 

or 185.328 to 185.42 

  

2 

 

4 

 

 

 

M1 for  π × 6
2

  or better     

 

 

 

M1 for their (a) × 6  

M1 for 24 × 36  soi, imp by 864 

M1 for their (24 × 36) – their (their (a) × 6) 

ft their (a) for M3 
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6 (a) (i) Frequency table completed 2 M1 for 8 correct frequencies  

SC1 for all correct tallies if no frequencies. 

OR SC1 for all correct frequencies in tally 

column 

  (ii) 

70

3
 oe 

1 ft ft their table 

 (b) (i) 6 1  

  (ii) 10 1  

  (iii) 6 2 M1 for clear recognition of mid values used 

  (iv) 6.43 to 3sf 3 M1 for total of freq × their result 

M1 dep for division by their 70 

 (c) (i) All totals filled in 1 Allow 1 error or omission 

  (ii) More ways of getting 7 1 Any equivalent explanation  

7 (a) (i) Trapezium 1  

  (ii) 

5.5

h
 = sin 70 or better  

 
5.17 or 5.16(8...) seen 

M1 

 

 
A1 

 

  (iii) 54.3 or 54.34 or 54.(0...) 2 M1 for 0.5 (8.4 + 12.5) × 5.2 oe 

  (iv) 370 2ft B1ft Their (a)(iii) × 6.8 not correctly rounded 

to 2sf 

 (b) (i) 64 

21 

116 

1 

1ft 

1 

 

ft 85 – their (b)(i) 

  (ii) 154 2ft M1 for 540 – (90 + 95 + 64 + their x + their y) 

8 (a) (i) 4m 1  

  (ii) 2e – 10f 2 B1 for ae – 10f or 2e ± bf (a,b ≠ 0) 

 (b) (i) –3 2 M1 for 27 + (–2) × 15 or better 

  (ii) 

[t=] 

a

us −

 or 

a

s

 − 

a

u

 

2 M1 first step correct 

SC1 for s – u ÷ a www 

 (c) [x =] 2, [y =] –3 3 M1 for correct method to eliminate one 

variable. 

A1 for x or y correct 
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3 (a) 

 

(b) 

 

 

(c) 

 

 

 

 

 

(d) 

 

 

 

 

 

240000 

 

1200, 450, 750 

 

 

224973 

 

 

 

 

 

(i)  2250             

 

 

      900                   36 

 

(ii)  2 correct sectors  

      correct labels 

1 

 

3 

 

 

3 

 

 

 

 

 

1,1,1 

 

 

 

 

1 

1 

 

 

SC2 for all three correct in wrong order seen 

SC1 for 2400 ÷ 16 implied by 150 

 

M2 224972.8 or 200000 × 1.04
3 

or 224793.0(0) 

if M0
 

M1 200000 × 1.04
2

 or 216320 

SC1 for their answer correctly rounded to 

nearest dollar 

 
 

If first B0,B0  then SC1 for adding to 3150 

 

 

 

 

 

Must only be 4 sectors in total 

4 (a) 

 

 

 

 

(b) 

(i)  2.5  or  5/2  or  2 ½  

 

(ii)  4.5  or  9/2  or  4 ½  

 

 

(x =) 3, (y =) −4 

2 

 

3 

 

 

4 

M1 6x − 2x = 8 + 2 or better
 

 

M1 8y − 12 or 2y − 3 = 6 

M1 8y = 36 ft  or 2y=9 ft their first step 

 

M1 coefficient of x or y the same 

dep M1 for addition or subtraction 

A1 for 1 correct answer (their first answer) 

5 (a) 

 

(b) 

 

(c) 

 

 

Parallelogram 

 

Rotation, 90° clockwise, about origin 

 

(i)  Correct reflection 

 

(ii)  Correct translation 

 

(iii)  Correct enlargement 

1 

 

1,1,1 

 

2 

 

2 

 

2 

 

 

 

 

B1 reflection in the x axis  

 

B1 for translation –6,k  or k,–4 

 

B1 Correct size, wrong position 

6 (a) 

 

 

 

 

 

(b) 

 

(c)  

(i)   3   − 1 

 

(ii)  subtract 4 

 

(iii)  − 4n + 23  oe  final answer 

 

8,  10,  12 

 

27,   3n+ 3  oe  final answer 

1,1 

 

1 

 

2 

 

2 

 

3 

If B0 award B1 if term 2 − term 1 = − 4 

 

Accept minus 4, take away 4 

 

M1 −4n+ k  or jn+23 ( j ≠ 0) as answer   

 

M1  2 correct terms 

SC1 for 6, 8, 10 

B1  27  

B1  3n + k or jn + 3 ( j ≠ 0) 
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(e) (i) 

8010

20

oe [0.0025[0]] 
2 

M1 for  

90

5

× 

89

4

oe 

After M0, SC1 for  

90

5

× 

90

5

 oe 

 

 (ii) 

8010

598

oe [0.0747] 

3 

M2 for ⎟

⎠

⎞
⎜

⎝

⎛
×+⎟

⎠

⎞
⎜

⎝

⎛
×

89

23

90

13

89

13

90

23

oe 

or M1 for one product soi [0.0373..] 

After M0, SC1 for 2 ⎟

⎠

⎞
⎜

⎝

⎛
×

90

13

90

23

oe 

4 

(a) (i) 2.5 or 

2

5

 

 
2 

 
M1 for one correct step collected 

i.e 6x = k or ax = 15 

or for 4x + 2x = 8 + 7 

  (ii) 13 2 M1 for x – 7 = 2 × 3 or better 

 (b) (i) 27x
3

y
12 

final answer 2 B1 for 2 correct elements 

  (ii) 4a
3

b
[1] 

final answer 2 B1 for 2 correct elements 

 

 (iii) 

8

1

+

+

x

x

www final answer 

4 M2 for (x – 8)(x + 1) seen 

or SC1 for (x + a)(x + b) where a + b = –7 

or ab = –8 

and B1 for (x + 8)(x – 8) seen 

5 (a) 55.6 to 55.61 www  3 
M2 for 

222

202446 ++ oe [ ]3092  

or M1 for 46² + 24² oe [soi by 2692 or art 51.9]  

or 46² + 20² oe [soi by 2516 or art 50.2]  

or 24² + 20² oe [soi by 976 or art 31.2] 

 

 (b) 90.6 or 90.57 to 90.58 3 

M2 for  

( )462420

20000

××

× 100 oe 

or M1 for 20 × 24 × 46 [22080] 

 (c) 25.19 to 25.21, 30.23 to 30.246 or 

 30.2, 57.95 to 57.97 or 58[.0] 

3 M2 for 20 ×  2
3

or 24 × 2
3

 or 46 × 2
3

 

M1 for 2
3

 oe seen [1.259 to 1.261] 

 

(d) 16.8 to 16.842 

 
3 

M2 for 

π34

20000
3

 oe or answer figs 168 to 

16842 

or M1 for 

π34

20000
3

 [4770 – 4780] seen 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 
1 

 

96 

 
2 M1 for 

100

82600 ××

 oe  

If zero SC1 696 

 
2 

100

1

+

25

4

 or 0.1
2

 + 0.4
2

 oe 

100

1

+ 

100

16

= 0.17 or 0.01 + 0.16 = 0.17
 

 
M1  
M1 

 

     
Independent  

 
3 

 

 

180 

 
2 M1 for  

20

12300×

oe 

4 3y – y
4

 final answer
 

2 B1 for  3y  or  – y
4

 as part of two term expression 

5 88.2(0) 2 M1 for 84 × 1.05 oe 

6 Accurate perpendicular bisector of RT with 

arcs. 

2 B1 for 2 pairs of correct arcs 

B1 for correct line 

7 8.471 cao 2 
B1 for 8.47 or 8.4705 to 8.4706 or 

17

144

 or 
17

8

8  

8 249.5 [Y j<=] 250.5 cao 2 B1 for either, or both correct but reversed 

 

9 

 

 

 

 

 

 

2 

 

B1 for one correct 

10 Correct working seen 2 M1 for correct step M1 for correct step 

11 4w
64

 2 B1 for 4w
n

 or kw
64 

12 40 6
 

2 B1 for one correct 

13 23 – 2x 

   12 

3 M1 for two correct algebraic fractions with a 

common denominator of 12 

M1 for correctly collecting their terms   

M1 for dealing correctly with the 1  

14 3, –3 or ±3 3 M1 for y = k/√x oe  A1 for 18 


